Ej(;ﬁ\yr’#;:;4¢r§]

%7 b
-6

)

=1
i
EIR -
A fir& 1 f: ELEEHR
BRER HT 3
2 | X OfFE
KEE hbH%b 0 = 1 =
1 ?5:: 8.5% 130 2z | R
Z 5 10 P
Sk 2 % 91.5% 4% = | ra
‘ ;Eo) 3 %uig_(l’_—‘jjﬁén 0.0% 94.6% 10.0% o1 1¢f§
SHhITF 2 | RAD HAOETRIR 3 8% 0.0% 90.0% 5.9% 00
LZESUN n3as w7 d 0 94.19 9.0%
85 4 0 0° 09
6 ’f’\‘: #%l"ﬁ'é‘(—‘ 11.5% 8.5% 1 0% - i 1 Of
= FE%%;I%(_:ET 4.6% 13.1% 0.0% 9-0% 1-9.,
= —= =
S }/F‘EE 2 (A1 K 10.0% 46.9% 0.0% 2% 12. 0
ﬁ:ﬁ 1 ®2 3 N2 10.8% 14.6% 30.0% 3.8% 1%
o 07 A — v ] 0 46.29 6.5%
=8 D 4 |A i 29.4% 8.5% 0% 2% 6
o )5]575\59 21 8; 33.0% 10.0% 3.8% 98.9%
! — 1 2.
- oELLE 21.8% 31.9% 20.0% 7.3% : 8%
= 1 22.9Y 30.0% 22.4% 4.0%
T T O | 2% 1
2 | 15.1% 0.0% 10.0% 8.6% . 7%
- 1%
B2 j‘.fﬁ o T v o2 2% o.5%
A 55 0: 2.8Y% 20.0% 18.4% 17.0%
i = s | 10 4.1 13.6%
1EE B — 40.5% 46.2% 0% 1% 6%
= a — 60 419 6.8%
0,
T; 1.8% 1.9% 10.0% 7.1% 35;3/0
%0 56 8% 0.0% 10.0% 35.3% 37-0%
- = 8% .
3 Ebhih 1 |®L — 29.7% 94.7% 20.0% 12'0% 202%
=HE Vo | 2 WEDM 1.8% 41.5% 60.0% 5.7% 0%
= BEASL ELN v 70 > o 0% 51.0% 26.0%
%0) =, \ . % 0N .U 2 44
L 1011El = 0.0% 79.2% 30.0% 0.0% 25-0%
K : 2 '
2 120 21.1% 0.0% 50.0% 3.5% > 0%
f N 0.0° 78.9" 9.0%
i 7 (ae Son 400 50.0% 10.5% 80.6%
fE14 404% 0% b — . o
5|5 0.8% 0.0% 0% %
6 o 13.89 0.0% 10.0% 0.0% 16.7%
o = 8 ° 0.0? 0.0% 0.0%
7 |70ft 8.5% 5% E R 0 =
*@ui 9.2% 9.2% 0.0% 2.0% 2.04
= o
OBt 1 — 11.59 6.2% 20.0% 0% %
as X7 L 2 17 5.0Y
5'59* 0.0% 51.5% 10.0% 15.7% 1 .0%
EIESS 70.8% 3.8% 40.0% 21.6% 1 5.0%
-0/0
9% % o
12.3Y 6.2% 70.0% 2.0% 0%
= 2 30 4319 5.0%
2.3% 0% 1% 5 )
0.0% 13.7% 8.0%
43.1% 10.0%




Flzﬁ1® *Eﬁ%ﬁ 80% Fﬂﬁ‘l@ *E@%’J?ﬁ\(*

60%

100% BIHT mEELESELAHD mRkEE

90% 40%

80%

70% 20%

60%

50% 0%

30FE RIFE REE REE RIEE

40% .

30% T

Yoo — R A — (R R CIB R R L)
100“ e FIA - RADODR

0% — RO R LR—

SOEF‘ R1EF szpr‘ R3EF R4$r‘ —HEANHEEIZRT
—_—RUREERIZSMLT
M1Q EIEHEE m B1EEE 207 &3l

60%

CR=REAY) 100%
| | ﬁ375\'2)4 80%
0% m A5h59 .
° = A 10ELLE 00%
m >R[E 40%
20% 20%
|| I | | I II "
I “ I n |

30&FE RIEE REE REE RIEE
0%

BOEE RIFE REE REE RIEE =RV mEE 8 TE « RKEE
B2~ #&E f13 Ebhiah--HEH
100% m — 100%
80% 80%
60% 60%
40% 40%
20% 20%
0% 0%
30&E RIEE REE REFE RIEE 30FEE RIEE REE REE REE
ER BEE s R nkEE EARLLEDAELY B{EERASFLY B Z0M nkEE
M4Q s 4@ HEFEL

100% 100%
80% 80%
60% 60%
40%
40%
20%
0% [ 20%
(]
30FEE RIEE REE REE RIEE 0%

30FE RIFE REE RIEFE RIEE

m101% m201% m 3018 = 401%
msoft  meoft  m70ftLlLE mKEE mEP mES wREE

XE2Q(BAND) . B3 (BHRER) FEFAHL,



